Year 4 Maths Activity Mat

Section 1 Section 2
What is the sum of 6 and
112+ 8 = 9 added to the product of
7 and 47
744 + 3 =
Section 3

How many ml is the arrow A and B pointing to?

—

Section 4

Werite one tenth more
and one tenth less
would be:

O

Section 5

What is the value of the
underlined numbers?

Section 6

Complete these calculations:

- 28

- 59

+ 32

122

48

71

147

92 143 =
less more
29 62 224 =
73 132 146 =
Section 7 Section 8

There are 9 lollies in a box. How
many boxes would be needed to get

72 lollies?

A pizza is cut into 12 slices. If % is eaten how
many slices are left?
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Year 4 Maths Activity Mat: 6

Answers
Section 1 Section 2 Section 4 Section 5 Section 6
What is the sum of 6 and Write one tenth more What is the value of the Complete these calculations:
112 + 8 = 14 9 added to the product of and one tenth less underlined numbers?
7 and 4? would be: 150 | - 28 = 122
92 143 = | 1 hundred/100
less more 107 | - 59 = 48
62 224 = |2 thousands/2000
2.8 | 2.9 3 39 |+ 32 = 71
Section 3 7.2 7.3 7.4 132 146 = | & tens/ 40
How many ml is the arrow A and B pointing to? 93 |+ 54 = 147
750ml A’T Section 7 Section 8
There are 9 lollies in a box. How A pizza is cut into 12 slices. If % is eaten how
many boxes would be needed to get many slices are left?
72 lollies?
A= 100ml B = 600ml 8 packets 3 slices
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